



**WELCOME**  
**TO**  
**LIFE IS BEST**

9

<https://myliblife.in>



# ABOUTUS

**LIFE IS BEST** is a marketing Company. It aims to bring happy and prosperous life to millions of people by forming meaningful ,long lasting and mutually rewarding business association. It has built up it base through distinguished quality products and income plans the quality of which is being widely honored and acclaimed. It has a unique business solution for all class of people to earn unlimited income.





# Vision and Mission

## **Vision**

Helping People's in Good Health  
and Earning money

## **Mission**

Helping People's by Providing  
an Unique Business  
Opportunity in the field of Direct  
Selling through Good Nutrition  
& Ayurvedic Products.





# REGISTRATION

## Activation Package

- \* Free Joining For Registration
- \* Activation Package Amount 500 Rs

A top-down view of a wooden desk. On the left is a white keyboard. In the center is a white coffee cup on a saucer. To the right of the cup is a pair of black-rimmed glasses. In the foreground, a white sign with black text reads 'REGISTER NOW'. A black pen lies on the desk to the right of the sign.

REGISTER  
NOW



# Direct Income

**You will get 100  
Rs. direct  
refferal income  
of your Package  
Amount.**





# Level Income

level	Team	Comission	Income	Position
1	10	100	1000	Bronze
2	100	50	5000	Silver
3	1000	30	30000	Platinum
4	10000	20	200000	Gold
5	100000	10	1000000	Diamond
6	1000000	10	10000000	Crown Diaimond
<b>7 to10</b>	<b>7 to 8 per id 10Rs 9 to 10 per id 5Rs</b>		<b>Total Income</b>	

Dusre level se par level pahle id ka income kat jayega level upgrade k liye.



# Royalty And Reward

S.No.	Team	Reward	Royalty
1	10	Offer 10 direct id 200Rs direct income	
2	100	Accidental insurance 5L per year.	
3	1000	Husband and wife health insurance almost 10L or 5000 cash per year.	
4	10000	Bike (1time)+ Girl marage help or 60000rs per year.	
5	100000	Four wheeler (1time) + National tur or 5L per year.	
6	1000000	Luxury Car and house + 25L (per year).	



# Payout Cycle

## TERMS & CONDITIONS

- Closing every day.
- Payout every day no holiday Payout withdrawal.
- . Minimum payout withdrawal is Rs 250/
- . (10% Deduction :-5% TDS ,5% Service )
- . Product delivery charge 100/



[www.myliblife.in](http://www.myliblife.in)

**THANKYOU**